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MOBILE COMMUNICATIONS

Paper : EC 615
Full Marks : 100
Time : Three hours

The figures in the margin indicate
Sfull marks for the questions.

Answer Q. No. 1 and any four from the rest.
1. Answer all the questions :

(@) What is the first cellular cdrnrnunication
standard in the European Countries ?
(i) AMPS
(i) ETACS
(i) IS-95
(iv) GSM 1

(b)) AMPS cellular system has a channel
bandwidth of 30 (True/False)
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(b) Derive frame efficiency of TDMA.

5

(c) State the properties of spread-
spectrum sequence. 8

(d) Define the following : 6

() Set-up channel
(i) Voice channel
(it Control channel. -

7. Write short notes on : (any two)
10x2
() GPRS
(i) Decision Feedback Equalizer
(ii) GSM architecture

(iv) CDMA.
3
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